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N = 0] &F AF S & AN A
20218 = 20l A LB H HSATH 22 AR A
2N BRNCYTABARL
Hu: mpacHIAne
Sl CRUTRBEUNY (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HEMCHSIAZAIR A 1,902,764 2,080,764 A 178,000
& 160,000
= 1,742,764
et gza2e 1,571,707 1,698,679 N 126,972
o= 160,000
= 1,411,707
CEZ2ZASELUI 1,571,707 1,698,679 N 126,972
=} 160,000
= 1,411,707
SsSHoZA 2L 712,664 234,623 478,041
101 21 214| 11,840 12,880 A 1,040
03 I L2 NHE 1,440 1,600 A 160
OZYANE22X0=2H (22A)
180,000 4 X x23| 1,440
04 JI2ZtHIZ22XNSESES 10,400 11,280 A 880
OZ28 R HEZHESEH DI
130,000 x5H 4 U x4 3| 10,400
201 et2 Y| 103,303 117,643 A 14,340
01 AP 2t 2] H| 73,748 84,780 A 11,032
O =LSSENE 2802 x2, 0008 560
OZ2F=s=2s 40 H & 66,000 184 1,188
QdioldECIHEHY EH 250,000 *6CH *33] 4,500
O&LIUXE 50,000& *30H *12& 1,800
odld e xt & 25,000& =50~ 12& 1,500
OFHLMEXANEE 139, 364& x409ha 57,000
OZ2JUEXNMNL2ZEE I ==
400,000€ 182 X| 7,200
02 2=2=24%4| 29,555 32,863 AN 3,308
ONSLRESARZ 400,000 x12& 4,800
OXNEHSANAHEDLHE SAR
5,500 x2CH x12& 132
OREEsSAIES 120,000 x12& 1,440
oEa 380 *300= 12 1,368
OJAMNPALELGHUAFI RS
520,000 x12& 6,240
OFA &2 S X2 =t 5,000,000 =14l 5,000
O XS XHA 550
— = 2(35A11058) 500,000 *1CH*13] 500
— A SIS (95%4841) 50,0002 *1CH *13] 50
OB MNMRESEZ 130
— = 2(35A11058) 35,000 *1CH =23 70
— 2SS (95X4841) 30,000 *1CH =23 60
OXNsxEs = 700,000 *x2CH x13] 1,400




2H: BRNCEBRABRAARA
B HRACURADL
el CERABEAN CEEEED
S EB B (EH) - MBAY - BAS o AF o San H D2
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— S A2l 100, 000& *2[H *23] 400
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2,000,0003 * 14 2,000
202 04| 9,100 10,500 A 1,400
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CEHSAALLREFXN
35,0003 *5H x4 x133] 9,100
203 € R =&lY| 1,000 1,500 A 500
03 Al =X H R =X Y| 1,000 1,500 A 500
ocgzsazE=d 2 1,000,000& 1,000
206 M =8l 18,654 20,000 AN 1,346
01 X2 bl 18,654 20,000 AN 1,346
2ERLTZEESFFY 4,000& x5Z *6002 12,000
ORABABHIRACT 22
85,000& *10& 43| 3,400
O=EsgHls+7¢ 10,0003 *200 & 2,000
OoxFd&222H2Y 313,500& 43| 1,254
401 Al HI YL 2 0HHI 561,375 60, 501,375
01 A& HI 561,375 60, 501,375
OsdU==sdIAY 10,000,000 *13] 10,000
O33U==ATHALY 10,000,000& *13] 10,000
OZ23UIIois &Yl A 10,000,000& *13] 10,000
OZ2S A HEXIOf == 16,350& x32,500 m* 531,375
405 X+HoHF SHI 7,392 12, N4,708
01 A&t = S F SHI 7,392 12, N4,708
O=AIZ2Y 7,392,000& = 1CH 7,392
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e 10,000, 000& 14! 10,000
OFgtotstel Z3lIetd s
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5,000,000 =14 5,000
O=8s7UELZ20A==HELX
200,000& *250m 50,000
OFEMAELENRAFANHOIAZEH
20,000,000& =14 20,000
O &8t R~ M P 2Ht A B K| 2 4 X
20,000,000& =14l 20,000
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O3 &2 22X =0 200,000 x12H *23| 4,800
& 1,440
= 3,360
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Ost==r= 2 &3l 300,000& =12 300
02 2524l 33,889 57,486 A 23,597
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—s3JI=d %Xl 400,000& *30H 1,200
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201 Yete | 29,738 32,556 ~2,818
01 At 22/l 29,738 32,556 22,818
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— =g 60,000 »1H 365 21,900
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